
PATENT PRODUCT 
Grille Installation Instruction 

Part# 
GR06FFG88 

C/S/J 
Application 

For 2009-2012 Ford F-150 Lariat /2009-2012 Ford F-

150 King Ranch 

The instruction here is for your reference only. You may need to bend the grille a little bit to 

adjust to fit. We strongly recommend the professional installer for best result. We are not 
responsible for any damage caused by the installation. Thank you for choosing our product! 

Parts List 

Item Part Name QTY Description Item Part Name QTY Description 

1 Billet Grille 6 Stainless steel 3 Machine Screws 12 6-32×2″

2 Washers 12 4 K-Lock Nuts 12 6-32

Install Notes:  Overlay      Replacement        Drill        Cut       

Step Description illustration 

1 Identify the grille & hardware with parts list. 

2 
Take one the billet grilles and insert it into the grille shell opening. There are 6 billet grilles, 1 for each opening in the grille 
shell, make sure to use the correct billet grille in the correct grille shell opening.  

3 
Once you insert the billet grille into the grille shell opening you need to use a 2″ machine screw, washer and 6-32 k-lock 

nut to secure the billet grille to the grille shell. 

4 

From the front of the grille put a 2″ machine screw through the brackets that are welded to the back of the billet grille. 

There are 2 brackets on each billet grille. From the back of the grille put a washer and 6-32 k-lock nut on each of the 
machine screws. Tighten the lock nuts with a 8mm socket and phillips screwdriver. Repeat this process to the 5 remaining 
billet grilles.

5 Make sure the billet grille is centered and tighten the fasteners, but do not over-tighten. 

6 Reinstall the black plastic cover which was removed in step 2. 

7 Installation completed!!! 

√ × × × 

Learn more about custom grilles on our website.Feel the difference with APG.

https://www.carid.com/custom-grilles.html
https://www.carid.com/apg/

